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GENERAL STUDIES (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HIND! and in ENGLISH.

All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized

one.
Word limit in questions, wherever specified, should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off.
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. : jayanagar, was not only an accomplished scholar
Was also a great patron of harr:mg and literature. Discuss, 121
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b itiﬂrt 1o eradicate poverty is to libe poor from process of
Ion.” Substantiate this statement with aui‘mhr;tﬁ;pln. - '?“‘5:125 "
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Why ibals i
pmii :i:i?:n:;bgia in India referred to as ‘the Scheduled Tribes Indicate the major
rined in the Constitution of India for their upliftment. 4%+8=12%

wﬁmmﬁmﬁﬁmmaﬁm‘mﬂmm'tmmmiMI

With a brief background of i
quality of urban life in India, i bjectives
strategy of the ‘Smart City Programme’, i~ b 4*$12H
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What is the basis of regionalism? Is it that unequal distribution of benefits of

development on regional basis eventually promotes regionalism? Substantiate your
answer, 3%+9=12'%

aryg wef F FEewn ) fadan Sy aa e o Seawd siadd § s i 2 e St
Discuss the concept of air mass and explain its role in macro-climatic changes. 12%
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“The Himalayas are highly prone to landslides.” Discuss the causes and suggest suitable
measures of mitigation. 12%
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The effective management of land and water resources will drastically reduce the human
miseries. Explain. 12%
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South China Sea has assumed great geopolitical significance in the present context.

iy 12%
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Maijor cities of India are becoming more vulnerable to flood conditions. Discuss. 12%
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